MATH 1110: QUICK REVIEW

the derivative of sin(x) is: CO S

1. By using one of the trig identities listed below, use the derivative of sine and derivative rules
to compute the derivative of cosine.

cos(x) =/1-sin*(x) (arearrangement of sin’*(x) + cos*(x) = 1)

costx) = sin(x +3) Jet hext Py

cos(x) =1- %sinz(g)

the derivative of cos(x) is:

2. By writing each trig function in terms of sine & cosine and then using derivative rules (e.g.
Chain Rule, Product Rule), compute the derivative of each of the following:

(a) tan(x) = S ol 0571((/‘5-4) - 5'!'\»71,(-3?”‘)
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Date: Tuesday, 2 October 2018.
Instructor: Zach Norwood.
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MATH 1110: QUICK REVIEW

3. Compute each of the following derivatives:
(e) tan(x?) and (tan(x))?

ée(,z(xz).. 2x 7 dwn sec”

(f) eCOS X
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(g) cos?(sin(x)) +sin’(sin(x)) = 1
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(h) e*+2x+sinx -6
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(i) e%°* +2secx +sin(secx) -6
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